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g PQ Z How useful is regression? ligure 4.8 (page 114) displays the relarionship between

4 golfers’ scores on the first and second rounds of the 2007 Masters Tournament. The
e oprelation sy = 0492 Exercise 4.30 gives data on solar radiation (SRD) and con-
[IMS) over a region of the Mediterranean. The corre-

centrarion of dimethyisulfide (
hese correlations

fation is 7 == 0.969. Explain in simple language why knowing omly t
enables you to sav thit prediction of DMS from SRD by a regression line will be much
more accurate than prediction af a golfer’s second-round score from his first-round

SCOTE.
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Regression io the mean. We expect that students who do well on the midrerm
exam in a course will usually also do well on the final exam. Gary Smith of Pomona
College looked art the exam scores of all 346 students who took his statistics class
over o 10-yeat g)eri()d.ﬁ The least-squares line for predicting final exam score from
midrerm-exam score was § = 46.6 + 0.41x. {Poth exams have a 100-point scale.)
Ocravio scores 10 points above the class mean on the midterm. How many points
ahove the class mean do you predict that he will score on the final? {Hinz: Use the fact
chat the least-squares line passes through the point (X, ¥ and the fact that Ocravio’s
midrenn score 18 5 4+ 100 Thists srorher example of regression o the M stiidents
who do well on the midrerm will on the average do Tess well, but el ahove average,

an the final.
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